A, Bo] thto] A4t A, vE AAB=2A+ B, AYB=A-3B
-x3, B=x>+3x+1¥ 1 Av(BrA)E 5IH?
@ 2x* - 18x-10 @2)63 —12x2 - 18x - 10

@ 2x® 4+ 12x> + 18x + 10 @ 2x® 4+ 12x% + 18x - 10

® 2x3 —12x%2 +18x+ 10

AV (BAA) = AV (2B + A)
A-3(2B+A)=-2A-6B
919} 2ol A& 7hds] g2t & A, Bol tidsto] ARttt




o]

= B = a+ beuﬂ
WA % 87 ghe 28 Betel,

, 2A + BE oh= 1ol A

2A + B = 2(a + 2b) + (2a + 3b)
= (2a + 4b) + (2a + 3b) @ FHiH 2
=2a+ (4b+2a)+3b © AIHZ
=2a+ (2a+4b) +3b © W32
= (2a + 2a) + (4b + 3b) @ LT
=(2+2)a+(4+3)b @ EHHZ
=4a+7b

\VARR 4
0
n
@

@ 2a + (2a + 4b) + 3b = (2a + 2a) + (4b + 3b): A




3. B+ 2E T 2+ 2x- 12 YRGS 19 &S o(x) UHAE
R(x)2F & o, O(x) + R(x) 2] 3t2?

® 2x-3 @ 2x @ 3x+2
@4x ® 4x+1

B+ +2E P+ -1 Y UFd
O(x)=x-1, R(x) =3x+1
Q)+ R(x) = 4x




CHHA A = 26 - T -4 B THA] B 2 s o), Bo] 2r— 1,
b7} 7y - 2 Oleh. TR B = ax? + bx+ ¢ A T, 0+ b7 + ¢
o gre?

@ 3 @ 6 ® 9 @14 ® 17

B \

A=2x3-7x>-4=B(2x-1)-7x-2 oJt}.
2x3 = Tx?* 4+ Tx-2=B(2x- 1)

FAL 2 -1 2 YUY

233 —7x? +7x-2=(2x-1)(x* - 3x + 2)

" B=x*-3x+2




A

i
oo

4 FNA £4 2

o

1=m?

rlo

(a+b+c)?=a®+b>+c? + 2ab + 2bc + 2ca

(a+b+c)(a®+b*+c?—ab—bc—ca) = a® + b3 + ¢® — 3abc
(a+b)? = a3+ 3ab + 3ab* + b3
(

a-b)?=a®-3a?b + 3ab® - b*

@ e e e e

(@*+a+1)a®>-a+1)=a*-a®>+1

@ @+a+)(a®*-a+1)=(a®>+1)?-d?
=a*+a’>+1




6.

(a+b)(a® —ab + b*)(a® - b3) O] A2 &2 AL2?

O a3 +p? @ ab + b (@)aﬁ—bﬁ
@ a° 4+ b° ® -0




7. AALabcoA A a+b+c=2,a>+b*>+c* =6, abc = -1
A ], a3 + b+ 9] F2?

@11 @ 12 ® 13 @ 14 ® 15

B ~

(a+b+c)?=a%+b?+ 3+ 2(ab + be + ca)
ab+bc+ca= -1

a+ b+ 8

= (a+b+c)(a®+b?+c?—ab - bc - ca) + 3abc
—2x(6-(-1))-3=11




o]l A% xofl tiate] 4] (x-2)(x+2)% = (x—1)? +a(x-1)2 +
b(x 1) +col AHT W, a(b + ) 9] S T3tz

> E

> =g 30

B ~
(x=2)(x+2)2=(x-13+a(x-1)2+b(x-1)+¢
¥l x =2,-2,1& 27 st
O0=14+a+b+c¢,0=-27+9%-3b+c,-9=c
Al A& Aot EHa=5b=3, c=-9
~alb+c)=5%(3-9) =-30

B ,
FHHS AN & AR Eolk FH
(x—2)(x +2)?
=x3+2x>-4x-8
=x-13+alx-1)2%+b(x-1)+c
= (-DIx-Dix-1) +al+ b +c

11 -4 -8

2

1 3 -1
T A -

1 4

4




9. k2 #tol TAQION(2k% - 3k)x — (k + 2)y — (k* — 4)z = 289]
AL S x,y, 29 22 AL o, 3x +y + 29 727

® 1 @ 2 @3 @ ® 5

v

otk

~&B

F017 A& kol sl A =lstH

(2x—2)k? = (Bx+y)k— (2y -4z +28) =0

Lo 2x-2=0,3x+y=0,2y-4z+28 =0
72=2x, y=-3x = 2y—4z+28 = 0°f f4sIHA
x=2,y=-6,z=4

L3x+yt+z=4




10.

DR @ by 12090 ofE x, yO] Zto] et T

x—y—-1
& 714 W), a- b o] B Totolat,

> E

> ®E: 4

P LAt

B

2x+ay—b —katEom
x—y—1
2x+ay-b=k(x-y-1)
x, yoll tiste] A2shd,
2-k)x+(a+k)y-b+k=0
s19] Ao] x, yol that @5 Alolojof shuz
2-k=0,a+k=0, —b+k=0
L k=2,a=-2,b=2
L a-b=-4




11.

F|uAete] A4t 10]2 =

x3 4+ ax® +bx+3
=(x-1)%(x+k) +2x+1

=3+ (k-2)x2+(B3-2k)x+k+1
FH Ol AlG-E Hlw st
a=k—-2,b=3-2k, 3=k+1
k=20B2 q=0, b=-1
“a-b=0-(-1)=1




L2
o

(¥ +22% = 3x + 2)4(2x - 1) & AARE W), BE AFEC]
F5}olat,

> E:

> HEg: 16

B

(x® +22% - 8x+ 2)* - (2x - 1)7

=apx® + a1x!® +apx’ + - +ajg 2 EOH
ATES Fag+a + +ape FHA x =1
Aol gon g 5 A9] YA A
(1+2-3+2)* 2-1)"=2*=16

filo
i)
ol
e




13, oA f(x) =P +mx +nx+2 5 x-1 2 HrH rolgolx 1,
x4+ 1 2 e YR 7F 2 2L /e mn 9] & F-stolet

> E:

> ™Heh: 2

B ~

)=1+m+n+2=0,m+n=-3
-)=-14+m-n+2=2m-n=1
% A2 QS EH m= -1, n= 2




14. oA f(0) S x-2, x+ 322 Y-S o U7} 2 1, -4
oty f(x)E xX* +x-62= Y& wjo] YA E R(x) 2t & ),
R(5) ©] &= FoFH?

® 2 @3 @) @ 5 ® 6

B

f@)=1 f(-3)=-4
R(x) = ax+ b=} 5}H
fx)=(x+3)(x-2)0(x) +ax+b
2a+b=1, —3a+b=-4
La=1 b=-1

R(x)=x-1

R(5)=5-1=4




15, P4+x+1Sx+12UHE RS 0L T, Q(x) E x-12 the
U 2]E Fstofzt.

> E:

> ™Heh: 2

B

¥ +x+1=(x+1)0(x)+R
x=-1Z ol HASHE R = -1
L+ x+1=(x+1)0(x)
0(x)E x— 12 & Y7
@l x = 1= tHdstd 3

L 01) =2




P

X3+ 3x%2 +ax+ b7t x+ 22 Yol Eold uff, 2a - b 9]

@ 12 ® 6 @—4

® -12

f(x)2t3t9 f(-2) = 0°]|BE=
12-2a+b=0°~2a-b=-4




17, (r+ 1) + (r+ D +2) -6y + 2)* & 155 oh™?

® x-2y+3 (@)x—Zy—?) @ x+2y-3

@ x+3y-7 ® x-3y+7

B

x+1l=a,y+2=0>b2stH
(x+1)*+(x+1)(+2) -6 +2)

= a® + ab - 6b*

= (a—2b)(a + 3b)

={(x+1) =200+ 2)H(x+1) +3(y +2)}
=(x+1-2y—-4)(x+1+3y+6)
=(x-2y-3)(x+3y+7)




18. ab(a-b)+bec(b—c) + ca(c —a)= A5-=ol|SHH?

@ -(a-b)b-c)c-a) @ —(a+b+0c)a

-b-c¢)

® —(a+b)(b+c)(c+a) @ (a+Db)(b+c)(c+a)

® (a-b)(b-c)(c—a)

B

A7ste] aofl AT WHAEo 2 A7 &, o'
ab(a —b) + be(b - c¢) + ca(c — a)
b* - c?)a + be(b - ¢)

S
|

o

S
|

| | A | R
—~ o~~~
S &
| |
TR
~—

e

o gt




19.

(x

ohaHA] P(x) =
A2 k9] 7he AT U e B P(x) o] A%7} obd AL

Al
A
3Tk

A ogk

® x-1 @ x+1 ® x-2 @»x+2 ® x+4

x4 208 4 ka? - 2x 4+ 87} x— 1 B UHpo] oA =&

B

P(x)=(x-1)Q(x)
“P1)=14+2+k-2+8=0
o k=-9
CP(x) =xt+2x3-9x% - 2x+8
= (x=1) (x-2) (x+1) (1 +4)




20. (2 - 1)£ 60 3} 70 Aol9] o @ F 42 o] Wol

F=7
® 61, 63 @ 61, 65 @ 63, 65
@ 63, 67 ® 67, 69

2181 =25-1)(2°+ 1) (22 +1)(2¥ + 1)
=63-65- (22 +1)(2* +1)
wrebA 248 — 12 633 65 2 L] Hoji




bol ohe 473 %

S

X2 —-x-2, B=x>-5x+6°]

A A=

ol
0 R

,DI O_L
o ol

:

(x=2)%(x+

(x-2)(x-3)
3

)x+1), B
X
ey

~ =T
_%%@$
/m\_ﬂ_oﬂoﬂu _
I'E s
<™ M =




a4—a2
22. ala+1) =19 W, —— o Fh27
i

©)

Wl

@1 )

N | =

D;

ot =

B

ala+1) =194

a>=-a+1

a4:(—a+1)2:a2—2a+1
=(-a+1)-2a+1=-3a+2

a’ =a*xa® = (-3a+2)(-a+1)

=-8a+5
at-a®> -3a+2-(-a+1)
ab-1 —8a+5

-1
~2a+1 = -2a+1

4

I&+4_4p%+n

=3a®-5a+2=3(-a+1)-5a+2




23, x1-622+ 12 Al SFATY (6% +ax+b)(x? +cx+d) 7F = AT,
ol W, g+ b+c+do FE FoHH?

@_2 @ 2 ® -1 @ 1 ® 4

B ‘

=622 +1 = (xf - 20 +1) - 4x?
= (x? = 1)% - (2x)?

= (@2 +2x-1)(x* -2x - 1)
:(x2+ax+b)(x2+cx+d)
Latbtctd=-2




2o TA7

Apolef th

°l=

)

SH
=

x, y, 28

°l&

94

g

2] A

g

N
~KH

\S

24.

xtyz + 37— xy?z +x3 -3z +y22 =0

e
L

B
~

747

® 27k e 4

(x%y + x3 — xy% + x2% = y3 4+ y7%)z

{x*(x+y) + (

(x+y)(x®> + 22 -¥*)z
(x4 )+ 22 -z
22 oy2 =0 (-

L2 =2 =yt




25. a-b=1+ib—c=1-iQ W, a®>+b*+c*—ab-bc—ca® 37

Do @1 3®)2 @ 3 ® 4

+O©E AXtSIH a—c =2
a2+ b2+c2—ab—bc—ca

_ %{(a “B)2 4 (b-c)? + (c - a)?)

= S92+ (1=0)7 +(-2))

1
25{1+2i—1+1—2i—1+4}
=2




